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a+b+c=1, ab+bc+ca=1, abc =1

ol W, (a+b)(b+c)(c+a)l] F2?

a+b+c=1°4
a+b=1-c¢c,b+c=1-a,c+a=1-b
(a+b)(b+c)(c+a)
=(1-)(1-a)(1-b)
=1-(a+b+c)+ (ab+ bc + ca) — abc
=1-1+1-1=0
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@ (a+b+c)? =a®+b*+ c® + 2ab + 2bc + 2ca

@ (a+b+c)(a®+b*+c?—ab-bc-ca) =a’+ b+ ¢ - 3abc
® (a+b)? = a3+ 3a’b + 3ab® + b®

@ (a-b)® =a®-3a’b + 3ab® - b®

@(a +a+1)(a®-a+1)=a*-a*+1

® @+a+)(a*-a+1) =(a®+1)-
=a*+a’+1




3. &EZ+b*+c2=9, ab+bc+ca=9, a+b+c2 7&?

D -32 @ -2+3 @if’)‘/g
@ +3V2 ® V6

B

(a+b+c)? =a?+b*+c?+2(ab + bc + ca)
=9418 =27

a+b+c==+3V3




(2x3 = 3x% + 3x + 4)(3x* + 2x3 — 2% — Tx + 8) 2 AN Ao A] »3
o Ag?

® 31 @ 33 ® 35 @ 37 )39

2x3 x 8 = 3x% x (=7x) + 3x x (—2x?) + 4 x 2x3 = 39x3
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O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a®+ 4b% + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x3+38
Q(XQ_xy+y)(x2+xy+y2) =x4—x2y2—|—y4

©® (x-

DPx+1)2=x*-2x2+1

@ (2 -xy+y*) (P +xy+y?)
= (2 +y*)? - (xy)?
— x% 4 a2)2 4yt




6. oA f(x)E 222 +3x+ 22 YR EY ol 3x-40], L7}
2x + 50|t} o] o, £(1) 9] gh2?

-1 @o ®1 @ 3 ® 5

B

flx) = (2x® + 3x + 2)(3x — 4) + (2x + 5)
=6x3+9x% +6x—8x> - 12x—-8+2x+5
=6x3+x2—4x-3

L f1)=64+1-4-3=0

f(x) = (2x2 +3x+2)(3x—4) + (2x + 5)
fA)=2+3+2)(3-4)+(2+5)=-T+7=0




A 2x% 4 x2 + 3x & 22 + 12 Y U R]=2

@x-1 @ x ® 1
@ x+3 ® 3x-1
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27 ol
x—1
x2+1
202041, oA o

(2x+1)+




(Axt = 525 4 3x2 —dx + 1) = (22 - x + 1) S A4 shge o, 23}
ez e) @2 oo

@4x2—6x+1 @ 4x2-7x+3 ® 4x2—4x+5

@ 4x2-8x+2 ® 4x2 -6x+7

213 Yol A gt
Bi4x? —x-2, YA —5x+3
ST YR Y] T 4x? - 6x+ 1




(x3=3x%+3x+4) (x*+2x-5) 5 AN Ao A x? O] A5 F-5HA?

® 10 @ 15 ® 19 @ 21 (22)25

B

A A x2 2
1) (o123 x (A2Fa}) ol A] 1542 + 4x% = 1942
i) (LAF)x(LAF) oA 6x3
PO AFE19+6=25
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10. 934 (a-b)(a® +ab +b?) & Z7NskH?

@ a?-0p? @a3—b3
® ad+ b3 @ a3+ 3a®b + 3ab* + b°

® a® - 3a2b + 3ab? -

A (a-b)(a® +ab+b%) =a®-b?




11. (a—b-c)*& A AN A2

@® a® + b2 + % + 2ab + 2bc + 2ca
@ a® + b2 + ¢ — 2ab — 2bc — 2ca
® a* - b? - ¢ - 2ab — 2bc — 2ca

@a2+b2+c2—2ab+2bc—2ca

® a®-b?-c?+2ab - 2bc - 2ca

(a-b-c)?
=a’+ (=b)® + (=¢)? + 2a(=b) + 2(-b)(—c) + 2(—c)a
=a? + b% + ¢? - 2ab + 2bc — 2ca




@ (ax-2)+ (7-2x) = 2x-5
(6% +2y%) =20 = 3x%) = 7a°
® (x+y)* =x"+ 3% + 307 +y°
@ (x+y+2)? =22+ +2° + 20y + 2z + 2

® (FP+1)+(x+1)=x-x+1

O (4x-2)+(7T-2x)=2x+5




13. (x-2y-32)2& A7As 2ol et a0 2 Falshn?

D x? + 4y? + 9z% — 4xy + 12yz — 62x

@ x% —4xy+4y? — 9722 + 12y7 — 6zx
@x2 — (4y + 62)x + 4y? + 12yz + 972

@ 4y? +12yz + 92% + (—4y — 62)x + x*

® 922 +4y* + x2

(x =2y —32)% = x? — (4y + 62)x + 4y? + 12yz + 972




14. oA f(x) = 3x° - Tx% +5x+ 25 3x- 1 2 U= 1 9] B3} Yoz &
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@%: 2=2x+1,4Y™HA 3
@ F:a?-2x4+1,4HA 2
® a2 4+2x+1,4HA 3
@ B2 42x+1,4HA 2
® x4+ 2x+1,4HA 1




15. ohg 48 ANRE 1, $27

(4x* =5x3 +3x%2 —dx+1) = (x> = x+ 1)

@ 4x®2-3x+2 <@’4x2—x—2 @ 4x?-2x+1

@ -4x? - x-2 ® —4x2 4+ x_2

LB 4o x—2, WA S5t 3




16. T4 200 + 2 — 5y 438 2+ x— 12 U ), $7} 1]
Tfofat,
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A iro] Hel
Sl ox—1, UM A L —2x+ 2
B} g2 e 1




17. A g4 A =22y -x? +33, B= 2002 +2y3.C = x> +y3 ]
tiste] (24 — B) + C & AASHA?

@ 2x% — 4x?y + 3y° @ x4 2x% —y?
® 2x3 4 4x%y - y? <@>x3 4 4x2y 43
® 2 +4°

(24-B)+C
= 4x%y - 2% + 2% = (<207 + 2%) + 2% + )
=x3 +4x%y +y3

(24— B) +C
=x3 +4x%y +y°
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